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Two dogs are wrestling in the grass.
Two puppies are playing in the green grass.
two puppies playing around in the grass

=l

A beagle and a golden retriever wrestling in the grass

Two puppies play in the grass x 8000

« ZDOS5196F v T3> ZR—RATFRA MEUTEREGRAGESN 68EE)

— A dog runs in the snow

e J A — ijO)i%Fﬁ A dog runs in the snow
A dog runs in the snow

A dog runs in the snow

« D TCOEEN T A —HADIIER A dog runs in the snow

A dog runs in the snow
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A biker enjoys a coffee. .- TIREBDOBEEEBAL THALT S

A biker enjoys a coffee.
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A biker enjoys a coffee.

A biker enjoys a coffee.

A biker enjoys a coffee. <« (THR/RAL,
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Focused speech

Paraphrase

A dog sp!
A dog sp!
A dog sp!
A dog sp

as.
as.

as.
as

nes 1n the water
nes 1n the water
nes 1n the water

nes 1n the water

A dog splashes in the water

A dog sp!

A dog sp
A dog sp!

A dog sp!

A dog sp!

as.

as|
las
las
as|

hes In the water

hes In the water
nes in the water
nes in the water

nes 1n the water

One dog splashes in the water
A dog, not two, splashes in the water
The animal splashing in the water is a dog
A dog, not a child, splashes in the water
What a dog is doing in the water 1s splashing
A dog splashes in the water, not at the edge of it
A dog immersed in water splashes
A dog splashes in some specific water
Water 1s what a dog splashes in
A dog splashes in the water, not in the mud
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% A biker enjoys a coffee.
- [ZDEBZEAIT DONABATHNI A biker enjoys a coffee.
BEEZFY T UTLIEE] A biker gnigys a coffee.
A biker enjoys a coffee.
A biker enjoys a coffee.
o $LER A biker enjoys a coffee.
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Splashing is what two dogs are doing
through the water.

Two dogs splash through the water.

- BTN - -

Two lizards fight in the water. What the two I:ze}irdﬁtdo in the water
74 —HRABESTRABEAY 7 K 19t
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The woman is walking her dogs. The woman walks her dogs.
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People sit on benches. People sit on top of benches.
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Two brown dogs play.

Two brown dogs play enthusiastically.
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A man stands outside.

A man, not a woman, stands outside.
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Corpus Design

A biker enjoys a coffee

Accuracy

One biker enjoys a coffee.

A

There is one biker enjoying a coffee.

A

It's a biker enjoying a coffee.

Focus placement ~ SpeakerA SpeakerB SpeakerC
___without | I | | | |
fooos 1] 1] 1]

A 1 ||J L[1]| iskipped
ST |11
coffee ||||| J Eskipped

Flickr8k
Captions (196)

Normal:; 600, Focused 2800

10 British native English speakers

The person enjoying a coffee is a biker. |

It is coffee the biker enjoys.

What the biker enjoys is a coffee.

Paraphrases 1700

16 native English
speakers

Formattedness

—5~@—5

16 native English
speakers



Collection Flow

Materials Instructions

I% A biker enjoys a coffee.
Speech collection Q

‘ Make a recording emphasising the underlined word if it does not sound unnatural

Illll A biker enjoys a coffee. Paraphrase collection //

Paraphrase the speech by writing your own sentence in a way that clearly conveys the
meaning implied by the emphasised word.

[
=| A biker drinking a coffee is enjoying it. Paraphrase Evaluation
- Rate how accurately does the written sentence convey what is implied in the speech?
- Is the written sentence formatted well as an English sentence?
Low scores High scores
CO"eCt and evaluate Accept the paraphrases

paraphrases again



